

۱۵.۵ m - ۳.۵ h

۶۱۵ × ۵۴ = ۲۹۷

۳ × ۳ = ۹

۲۹۷ - ۹ = ۲۸۸

۳۶۰ - ۲۸۸ = ۷۲

۳۶۰ ÷ ۱۲ = ۳۰

۳۰ × ۳ = ۹۰

۳۶۰ - ۹۰ = ۲۷۰

۲۷۰ ÷ ۶ = ۴۵

۳۶۰ - ۴۵ = ۳۱۵

۳۱۵ - ۱۱۷ = ۱۹۸

۱۹۸ ÷ ۳۶ = ۵.۵

۵.۵ × ۶۰ = ۳۳۰

۳۳۰ - ۱۱۷ = ۲۱۳

۲۱۳ ÷ ۳۶ = ۵.۹۱

۵.۹۱ × ۶۰ = ۳۵۴.۶

۳۵۴.۶ - ۱۱۷ = ۲۳۷.۶

۲۳۷.۶ ÷ ۳۶ = ۶.۶

۶.۶ × ۶۰ = ۳۹۶

۳۹۶ - ۱۱۷ = ۲۷۹

۲۷۹ ÷ ۳۶ = ۷.۷۵

۷.۷۵ × ۶۰ = ۴۶۵

۴۶۵ - ۱۱۷ = ۳۴۸

۳۴۸ ÷ ۳۶ = ۹.۶۶

۹.۶۶ × ۶۰ = ۵۷۹.۶

۵۷۹.۶ - ۱۱۷ = ۴۶۲.۶

۴۶۲.۶ ÷ ۳۶ = ۱۲.۸۲

۱۲.۸۲ × ۶۰ = ۷۶۹.۲

۷۶۹.۲ - ۱۱۷ = ۶۵۲.۲

۶۵۲.۲ ÷ ۳۶ = ۱۸.۱۴

۱۸.۱۴ × ۶۰ = ۱۰۸۸.۴

۱۰۸۸.۴ - ۱۱۷ = ۹۷۱.۴

۹۷۱.۴ ÷ ۳۶ = ۲۶.۹۸

۲۶.۹۸ × ۶۰ = ۱۶۱۸.۸

۱۶۱۸.۸ - ۱۱۷ = ۱۵۰۷.۸

۱۵۰۷.۸ ÷ ۳۶ = ۴۱.۸۸

۴۱.۸۸ × ۶۰ = ۲۵۱۳.۲

۲۵۱۳.۲ - ۱۱۷ = ۲۴۰۱.۲

۲۴۰۱.۲ ÷ ۳۶ = ۶۶.۷۲

۶۶.۷۲ × ۶۰ = ۴۰۰۳.۲

۴۰۰۳.۲ - ۱۱۷ = ۳۸۸۶.۲

۳۸۸۶.۲ ÷ ۳۶ = ۱۰۷۹.۵

۱۰۷۹.۵ × ۶۰ = ۶۴۷۷

۶۴۷۷ - ۱۱۷ = ۶۳۶۰

۶۳۶۰ ÷ ۳۶ = ۱۷۶.۶۶

۱۷۶.۶۶ × ۶۰ = ۱۰۵۹۹.۶

۱۰۵۹۹.۶ - ۱۱۷ = ۱۰۴۸۲.۶

۱۰۴۸۲.۶ ÷ ۳۶ = ۲۹۱۱.۸

۲۹۱۱.۸ × ۶۰ = ۱۷۴۷۰.۸

۱۷۴۷۰.۸ - ۱۱۷ = ۱۷۳۵۳.۸

۱۷۳۵۳.۸ ÷ ۳۶ = ۴۸۲۰.۵

۴۸۲۰.۵ × ۶۰ = ۲۸۹۲۱

۲۸۹۲۱ - ۱۱۷ = ۲۸۸۰۹

۲۸۸۰۹ ÷ ۳۶ = ۷۹۷.۴۷

۷۹۷.۴۷ × ۶۰ = ۴۷۸۴۸.۲

۴۷۸۴۸.۲ - ۱۱۷ = ۴۷۸۳۷.۲

۴۷۸۳۷.۲ ÷ ۳۶ = ۱۳۲۸۸.۱

۱۳۲۸۸.۱ × ۶۰ = ۷۹۷۲۸۶

۷۹۷۲۸۶ - ۱۱۷ = ۷۹۷۱۶۹

۷۹۷۱۶۹ ÷ ۳۶ = ۲۲۱۷۱.۳

۲۲۱۷۱.۳ × ۶۰ = ۱۳۳۰۲۵۸

۱۳۳۰۲۵۸ - ۱۱۷ = ۱۳۳۰۱۴۱

۱۳۳۰۱۴۱ ÷ ۳۶ = ۳۶۹۴۸.۳

۳۶۹۴۸.۳ × ۶۰ = ۲۲۱۶۶۹۸

۲۲۱۶۶۹۸ - ۱۱۷ = ۲۲۱۶۵۸۱

۲۲۱۶۵۸۱ ÷ ۳۶ = ۶۱۵۷۱.۹

۶۱۵۷۱.۹ × ۶۰ = ۳۶۹۴۳۱۴

۳۶۹۴۳۱۴ - ۱۱۷ = ۳۶۹۴۲۰۲

۳۶۹۴۲۰۲ ÷ ۳۶ = ۱۰۲۶۱۶.۷

۱۰۲۶۱۶.۷ × ۶۰ = ۶۱۵۶۹۸۰

۶۱۵۶۹۸۰ - ۱۱۷ = ۶۱۵۶۸۶۳

۶۱۵۶۸۶۳ ÷ ۳۶ = ۱۷۱۰۲۳.۷

۱۷۱۰۲۳.۷ × ۶۰ = ۱۰۲۶۱۴۲۲

۱۰۲۶۱۴۲۲ - ۱۱۷ = ۱۰۲۶۱۳۰۵

۱۰۲۶۱۳۰۵ ÷ ۳۶ = ۲۸۲۲۵۸.۳

۲۸۲۲۵۸.۳ × ۶۰ = ۱۶۹۳۵۴۹۸

۱۶۹۳۵۴۹۸ - ۱۱۷ = ۱۶۹۳۵۳۸۱

۱۶۹۳۵۳۸۱ ÷ ۳۶ = ۴۷۰۴۲۷.۲

۴۷۰۴۲۷.۲ × ۶۰ = ۲۸۲۲۵۶۳۲

۲۸۲۲۵۶۳۲ - ۱۱۷ = ۲۸۲۲۵۵۱۵

۲۸۲۲۵۵۱۵ ÷ ۳۶ = ۷۸۱۲۶.۴

۷۸۱۲۶.۴ × ۶۰ = ۴۶۸۷۵۸۴

۴۶۸۷۵۸۴ - ۱۱۷ = ۴۶۸۷۵۷۲۷

۴۶۸۷۵۷۲۷ ÷ ۳۶ = ۱۳۰۴۸۵۳.۵

۱۳۰۴۸۵۳.۵ × ۶۰ = ۷۸۲۹۱۳۲۱

۷۸۲۹۱۳۲۱ - ۱۱۷ = ۷۸۲۹۱۲۰۴

۷۸۲۹۱۲۰۴ ÷ ۳۶ = ۲۱۷۴۷۵۵.۶

۲۱۷۴۷۵۵.۶ × ۶۰ = ۱۳۰۴۸۵۳۳۶

۱۳۰۴۸۵۳۳۶ - ۱۱۷ = ۱۳۰۴۸۵۳۲۱۹

۱۳۰۴۸۵۳۲۱۹ ÷ ۳۶ = ۳۶۲۴۵۹۲.۲

۳۶۲۴۵۹۲.۲ × ۶۰ = ۲۱۷۴۷۵۵۳۲

۲۱۷۴۷۵۵۳۲ - ۱۱۷ = ۲۱۷۴۷۵۵۲۱۵

۲۱۷۴۷۵۵۲۱۵ ÷ ۳۶ = ۶۰۴۰۹۸۴۷.۹

۶۰۴۰۹۸۴۷.۹ × ۶۰ = ۳۶۲۴۵۹۰۸۷۴

۳۶۲۴۵۹۰۸۷۴ - ۱۱۷ = ۳۶۲۴۵۹۰۷۵۷

۳۶۲۴۵۹۰۷۵۷ ÷ ۳۶ = ۱۰۰۶۸۳۳۵.۴

۱۰۰۶۸۳۳۵.۴ × ۶۰ = ۶۰۴۰۹۹۹۹۳۲

۶۰۴۰۹۹۹۹۳۲ - ۱۱۷ = ۶۰۴۰۹۹۹۸۱۵

۶۰۴۰۹۹۹۸۱۵ ÷ ۳۶ = ۱۶۷۸۰۵۵۲.۵

۱۶۷۸۰۵۵۲.۵ × ۶۰ = ۱۰۰۶۸۳۳۱۵۵

۱۰۰۶۸۳۳۱۵۵ - ۱۱۷ = ۱۰۰۶۸۳۳۱۴۳۸

۱۰۰۶۸۳۳۱۴۳۸ ÷ ۳۶ = ۲۷۹۶۷۵۸۴.۴

۲۷۹۶۷۵۸۴.۴ × ۶۰ = ۱۶۷۸۰۵۵۰۶۶۴

۱۶۷۸۰۵۵۰۶۶۴ - ۱۱۷ = ۱۶۷۸۰۵۵۰۵۴۷

۱۶۷۸۰۵۵۰۵۴۷ ÷ ۳۶ = ۴۶۳۳۴۷۳.۷

۴۶۳۳۴۷۳.۷ × ۶۰ = ۲۷۷۹۸۸۵۸۲

۲۷۷۹۸۸۵۸۲ - ۱۱۷ = ۲۷۷۹۸۸۵۷۰۵

۲۷۷۹۸۸۵۷۰۵ ÷ ۳۶ = ۷۷۲۱۹۰۴۷.۸

۷۷۲۱۹۰۴۷.۸ × ۶۰ = ۴۶۳۳۱۴۲۸۶۸

۴۶۳۳۱۴۲۸۶۸ - ۱۱۷ = ۴۶۳۳۱۴۲۸۵۶۱

۴۶۳۳۱۴۲۸۵۶۱ ÷ ۳۶ = ۱۲۸۴۴۸۴۴.۳

۱۲۸۴۴۸۴۴.۳ × ۶۰ = ۷۷۰۶۶۹۰۶۵۸

۷۷۰۶۶۹۰۶۵۸ - ۱۱۷ = ۷۷۰۶۶۹۰۶۴۴۱

۷۷۰۶۶۹۰۶۴۴۱ ÷ ۳۶ = ۲۱۴۰۷۴۷۳.۷

۲۱۴۰۷۴۷۳.۷ × ۶۰ = ۱۲۸۴۴۴۸۴۲۲

۱۲۸۴۴۴۸۴۲۲ - ۱۱۷ = ۱۲۸۴۴۴۸۴۱۰۵

۱۲۸۴۴۴۸۴۱۰۵ ÷ ۳۶ = ۳۵۶۵۱۲۴.۴

۳۵۶۵۱۲۴.۴ × ۶۰ = ۲۱۳۹۰۷۴۶۶۴

۲۱۳۹۰۷۴۶۶۴ - ۱۱۷ = ۲۱۳۹۰۷۴۶۵۴۷

۲۱۳۹۰۷۴۶۵۴۷ ÷ ۳۶ = ۵۹۴۱۸۷۳.۷

۵۹۴۱۸۷۳.۷ × ۶۰ = ۳۵۶۵۱۲۴۲۲

۳۵۶۵۱۲۴۲۲ - ۱۱۷ = ۳۵۶۵۱۲۴۱۰۵

۳۵۶۵۱۲۴۱۰۵ ÷ ۳۶ = ۹۹۰۳۱۴۴.۴

۹۹۰۳۱۴۴.۴ × ۶۰ = ۵۹۴۱۸۸۶۶۶۸

۵۹۴۱۸۸۶۶۶۸ - ۱۱۷ = ۵۹۴۱۸۸۶۶۵۵۱

۵۹۴۱۸۸۶۶۵۵۱ ÷ ۳۶ = ۱۶۵۰۵۲۳۷.۸

۱۶۵۰۵۲۳۷.۸ × ۶۰ = ۹۹۰۳۱۴۲۲۸

۹۹۰۳۱۴۲۲۸ - ۱۱۷ = ۹۹۰۳۱۴۲۱۰۵

۹۹۰۳۱۴۲۱۰۵ ÷ ۳۶ = ۲۷۵۰۵۹۵۰.۳

۲۷۵۰۵۹۵۰.۳ × ۶۰ = ۱۶۵۰۳۵۷۰۱۸

۱۶۵۰۳۵۷۰۱۸ - ۱۱۷ = ۱۶۵۰۳۵۷۰۰۷۱

۱۶۵۰۳۵۷۰۰۷۱ ÷ ۳۶ = ۴۵۸۴۳۳۹.۲

۴۵۸۴۳۳۹.۲ × ۶۰ = ۲۷۵۰۶۰۴۲۱۲

۲۷۵۰۶۰۴۲۱۲ - ۱۱۷ = ۲۷۵۰۶۰۴۲۰۰۵

۲۷۵۰۶۰۴۲۰۰۵ ÷ ۳۶ = ۷۶۴۰۵۶۴۴.۴

۷۶۴۰۵۶۴۴.۴ × ۶۰ = ۴۵۸۴۳۳۸۶۸

۴۵۸۴۳۳۸۶۸ - ۱۱۷ = ۴۵۸۴۳۳۸۵۶۱

۴۵۸۴۳۳۸۵۶۱ ÷ ۳۶ = ۱۲۷۳۴۲۷۳.۷

۱۲۷۳۴۲۷۳.۷ × ۶۰ = ۷۶۴۰۵۶۰۴۲۲

۷۶۴۰۵۶۰۴۲۲ - ۱۱۷ = ۷۶۴۰۵۶۰۴۱۰۵

۷۶۴۰۵۶۰۴۱۰۵ ÷ ۳۶ = ۲۱۲۲۳۳۷۲.۵

۲۱۲۲۳۳۷۲.۵ × ۶۰ = ۱۲۷۳۴۰۲۲۵۵۰

۱۲۷۳۴۰۲۲۵۵۰ - ۱۱۷ = ۱۲۷۳۴۰۲۲۵۳۸۳

۱۲۷۳۴۰۲۲۵۳۸۳ ÷ ۳۶ = ۳۵۳۴۴۵۰۷.۳

۳۵۳۴۴۵۰۷.۳ × ۶۰ = ۲۱۲۰۶۶۷۰۶۳۸

۲۱۲۰۶۶۷۰۶۳۸ - ۱۱۷ = ۲۱۲۰۶۶۷۰۶۲۷۱

۲۱۲۰۶۶۷۰۶۲۷۱ ÷ ۳۶ = ۵۸۹۰۷۴۴۵.۳

۵۸۹۰۷۴۴۵.۳ × ۶۰ = ۳۵۳۴۴۴۶۷۲

۳۵۳۴۴۴۶۷۲ - ۱۱۷ = ۳۵۳۴۴۴۶۶۰۵

۳۵۳۴۴۴۶۶۰۵ ÷ ۳۶ = ۹۸۱۷۹۰۷۲.۵

۹۸۱۷۹۰۷۲.۵ × ۶۰ = ۵۸۹۰۷۴۸۳۵۰

۵۸۹۰۷۴۸۳۵۰ - ۱۱۷ = ۵۸۹۰۷۴۸۳۳۸۳

۵۸۹۰۷۴۸۳۳۸۳ ÷ ۳۶ = ۱۶۳۶۳۴۶۴.۸

۱۶۳۶۳۴۶۴.۸ × ۶۰ = ۹۸۱۷۹۰۸۰۲۲۸

۹۸۱۷۹۰۸۰۲۲۸ - ۱۱۷ = ۹۸۱۷۹۰۸۰۱۱۱

۹۸۱۷۹۰۸۰۱۱۱ ÷ ۳۶ = ۲۷۲۷۴۷۴.۴

۲۷۲۷۴۷۴.۴ × ۶۰ = ۱۶۳۶۴۸۴۶۶۸

۱۶۳۶۴۸۴۶۶۸ - ۱۱۷ = ۱۶۳۶۴۸۴۶۵۵۱

۱۶۳۶۴۸۴۶۵۵۱ ÷ ۳۶ = ۴۵۴۵۷۹۳۴.۷

۴۵۴۵۷۹۳۴.۷ × ۶۰ = ۲۷۲۷۴۹۰۰۶۸۲

۲۷۲۷۴۹۰۰۶۸۲ - ۱۱۷ = ۲۷۲۷۴۹۰۰۵۶۵

۲۷۲۷۴۹۰۰۵۶۵ ÷ ۳۶ = ۷۵۷۳۳۳۳.۷

۷۵۷۳۳۳۳.۷ × ۶۰ = ۴۵۴۳۹۹۹۹۲

۴۵۴۳۹۹۹۹۲ - ۱۱۷ = ۴۵۴۳۹۹۹۸۷۵

۴۵۴۳۹۹۹۸۷۵ ÷ ۳۶ = ۱۲۶۲۲۲۴۹.۳

۱۲۶۲۲۲۴۹.۳ × ۶۰ = ۷۵۷۳۹۳۴۹۵۸

۷۵۷۳۹۳۴۹۵۸ - ۱۱۷ = ۷۵۷۳۹۳۴۹۴۴۱

۷۵۷۳۹۳۴۹۴۴۱ ÷ ۳۶ = ۲۱۰۳۵۹۴۴۲.۸

۲۱۰۳۵۹۴۴۲.۸ × ۶۰ = ۱۲۶۲۱۵۶۶۶۵۶

۱۲۶۲۱۵۶۶۶۵۶ - ۱۱۷ = ۱۲۶۲۱۵۶۶۶۵۴۹

۱۲۶۲۱۵۶۶۶۵۴۹ ÷ ۳۶ = ۳۵۰۵۹۹۰۷۳.۷

۳۵۰۵۹۹۰۷۳.۷ × ۶۰ = ۲۱۰۳۵۹۴۴۴۲۲

۲۱۰۳۵۹۴۴۴۲۲ - ۱۱۷ = ۲۱۰۳۵۹۴۴۴۱۰۵

۲۱۰۳۵۹۴۴۴۱۰۵ ÷ ۳۶ = ۵۸۴۰۵۲۶۲۴.۴

۵۸۴۰۵۲۶۲۴.۴ × ۶۰ = ۳۵۰۴۵۱۵۷۴۶۸

۳۵۰۴۵۱۵۷۴۶۸ - ۱۱۷ = ۳۵۰۴۵۱۵۷۴۵۵۱

۳۵۰۴۵۱۵۷۴۵۵۱ ÷ ۳۶ = ۹۷۳۴۷۵۴۸.۳

۹۷۳۴۷۵۴۸.۳ × ۶۰ = ۵۸۴۰۸۵۰۲۸۶۸

۵۸۴۰۸۵۰۲۸۶۸ - ۱۱۷ = ۵۸۴۰۸۵۰۲۸۵۶۱

۵۸۴۰۸۵۰۲۸۵۶۱ ÷ ۳۶ = ۱۶۲۲۴۴۵۲.۵

۱۶۲۲۴۴۵۲.۵ × ۶۰ = ۹۷۳۴۷۷۱۵۵۰

۹۷۳۴۷۷۱۵۵۰ - ۱۱۷ = ۹۷۳۴۷۷۱۴۳۳

۹۷۳۴۷۷۱۴۳۳ ÷ ۳۶ = ۲۷۰۴۰۷۵۳۷.۳

۲۷۰۴۰۷۵۳۷.۳ × ۶۰ = ۱۶۲۲۴۴۷۱۸۱۸

۱۶۲۲۴۴۷۱۸۱۸ - ۱۱۷ = ۱۶۲۲۴۴۷۱۸۰۷۱

۱۶۲۲۴۴۷۱۸۰۷۱ ÷ ۳۶ = ۴۵۰۶۵۱۹۷۴.۴

۴۵۰۶۵۱۹۷۴.۴ × ۶۰ = ۲۷۰۴۰۷۱۵۰۴۶۸

۲۷۰۴۰۷۱۵۰۴۶۸ - ۱۱۷ = ۲۷۰۴۰۷۱۵۰۳۵۱

۲۷۰۴۰۷۱۵۰۳۵۱ ÷ ۳۶ = ۷۵۰۸۳۳۷۵.۳

۷۵۰۸۳۳۷۵.۳ × ۶۰ = ۴۵۰۴۹۹۲۵۵۱۸

۴۵۰۴۹۹۲۵۵۱۸ - ۱۱۷ = ۴۵۰۴۹۹۲۵۵۰۷۱

۴۵۰۴۹۹۲۵۵۰۷۱ ÷ ۳۶ = ۱۲۵۱۳۸۴۳۳.۷

۱۲۵۱۳۸۴۳۳.۷ × ۶۰ = ۷۵۰۸۳۶۰۰۲۲۲

۷۵۰۸۳۶۰۰۲۲۲ - ۱۱۷ = ۷۵۰۸۳۶۰۰۱۰۵

۷۵۰۸۳۶۰۰۱۰۵ ÷ ۳۶ = ۲۰۸۵۶۳۳۳.۷

۲۰۸۵۶۳۳۳.۷ × ۶۰ = ۱۲۵۱۳۸۰۰۰۷۲

۱۲۵۱۳۸۰۰۰۷۲ - ۱۱۷ = ۱۲۵۱۳۸۰۰۰۶۰۵

۱۲۵۱۳۸۰۰۰۶۰۵ ÷ ۳۶ = ۳۴۷۶۰۵۵۵.۷

۳۴۷۶۰۵۵۵.۷ × ۶۰ = ۲۰۸۵۶۳۳۳۳۲

۲۰۸۵۶۳۳۳۳۲ - ۱۱۷ = ۲۰۸۵۶۳۳۳۲۱۵

۲۰۸۵۶۳۳۳۲۱۵ ÷ ۳۶ = ۵۷۹۳۴۲۷۲.۸

۵۷۹۳۴۲۷۲.۸ × ۶۰ = ۳۴۷۶۰۵۶۱۲۸

۳۴۷۶۰۵۶۱۲۸ - ۱۱۷ = ۳۴۷۶۰۵۶۱۱۱۱

۳۴۷۶۰۵۶۱۱۱۱ ÷ ۳۶ = ۹۶۵۵۷۳۳۶.۴

۹۶۵۵۷۳۳۶.۴ × ۶۰ = ۵۷۹۳۴۳۶۰۰۲۴

۵۷۹۳۴۳۶۰۰۲۴ - ۱۱۷ = ۵۷۹۳۴۳۵۹۸۸۵

۵۷۹۳۴۳۵۹۸۸۵ ÷ ۳۶ = ۱۶۱۲۰۳۷۷۴.۷

۱۶۱۲۰۳۷۷۴.۷ × ۶۰ = ۹۶۵۵۷۰۲۲۴۸

۹۶۵۵۷۰۲۲۴۸ - ۱۱۷ = ۹۶۵۵۷۰۲۱۳۱

۹۶۵۵۷۰۲۱۳۱ ÷ ۳۶ = ۲۶۸۲۲۷۸۴.۴

۲۶۸۲۲۷۸۴.۴ × ۶۰ = ۱۶۰۹۳۶۷۵۴۶۸

۱۶۰۹۳۶۷۵۴۶۸ - ۱۱۷ = ۱۶۰۹۳۶۷۵۴۵۵۱

۱۶۰۹۳۶۷۵۴۵۵۱ ÷ ۳۶ = ۴۴۷۰۴۶۲۶۲.۸

۴۴۷۰۴۶۲۶۲.۸ × ۶۰ = ۲۶۸۲۲۶۵۵۷۲

۲۶۸۲۲۶۵۵۷۲ - ۱۱۷ = ۲۶۸۲۲۶۵۵۶۵۵

۲۶۸۲۲۶۵۵۶۵۵ ÷ ۳۶ = ۷۴۵۰۷۴۰۴۳.۷

۷۴۵۰۷۴۰۴۳.۷ × ۶۰ = ۴۴۷۰۴۵۶۲۶۲۲

۴۴۷۰۴۵۶۲۶۲۲ - ۱۱۷ = ۴۴۷۰۴۵۶۲۶۱۰۵

۴۴۷۰۴۵۶۲۶۱۰۵ ÷ ۳۶ = ۱۲۴۱۷۹۲۳۳.۷

۱۲۴۱۷۹۲۳۳.۷ × ۶۰ = ۷۴۵۰۷۱۵۴۰۲۲

۷۴۵۰۷۱۵۴۰۲۲ - ۱۱۷ = ۷۴۵۰۷۱۵۴۰۱۰۵

۷۴۵۰۷۱۵۴۰۱۰۵ ÷ ۳۶ = ۲۰۴۴۴۷۶۳۳.۷

۲۰۴۴۴۷۶۳۳.۷ × ۶۰ = ۱۲۲۶۶۲۹۰۰۱۲

۱۲۲۶۶۲۹۰۰۱۲ - ۱۱۷ = ۱۲۲۶۶۲۸۸۸۵

۱۲۲۶۶۲۸۸۸۵ ÷ ۳۶ = ۳۴۰۷۳۰۲۴۶.۷

۳۴۰۷۳۰۲۴۶.۷ × ۶۰ = ۲۰۴۴۴۷۶۲۹۰۲

۲۰۴۴۴۷۶۲۹۰۲ - ۱۱۷ = ۲۰۴۴۴۷۶۲۸۸۳

۲۰۴۴۴۷۶۲۸۸۳ ÷ ۳۶ = ۵۶۷۹۲۲۲۷.۳

۵۶۷۹۲۲۲۷.۳ × ۶۰ = ۳۴۰۷۳۳۳۶۴۲

۳۴۰۷۳۳۳۶۴۲ - ۱۱۷ = ۳۴۰۷۳۳۳۶۳۲۵

۳۴۰۷۳۳۳۶۳۲۵ ÷ ۳۶ = ۹۴۶۴۸۱۵۶۴.۷

۹۴۶۴۸۱۵۶۴.۷ × ۶۰ = ۵۶۷۹۲۶۰۰۰۷۲

۵۶۷۹۲۶۰۰۰۷۲ - ۱۱۷ = ۵۶۷۹۲۵۹۸۸۵۵

۵۶۷۹۲۵۹۸۸۵۵ ÷ ۳۶ = ۱۵۷۴۷۹۴۴۳.۷

۱۵۷۴۷۹۴۴۳.۷ × ۶۰ = ۹۴۶۴۸۱۶۶۶۲

۹۴۶۴۸۱۶۶۶۲ - ۱۱۷ = ۹۴۶۴۸۱۶۵۴۵

۹۴۶۴۸۱۶۵۴۵ ÷ ۳۶ = ۲۶۲۹۱۴۳۴.۷

۲۶۲۹۱۴۳۴.۷ × ۶۰ = ۱۵۷۴۷۹۶۶۲۸

۱۵۷۴۷۹۶۶۲۸ - ۱۱۷ = ۱۵۷۴۷۹۶۵۱۱

۱۵۷۴۷۹۶۵۱۱ ÷ ۳۶ = ۴۳۷۴۴۴۳۳.۷

۴۳۷۴۴۴۳۳.۷ × ۶۰ = ۲۶۲۹۱۵۷۸۰۲

۲۶۲۹۱۵۷۸۰۲ - ۱۱۷ = ۲۶۲۹۱۵۷۶۸۳۵

۲۶۲۹۱۵۷۶۸۳۵ ÷ ۳۶ = ۷۳۰۳۲۳۵۶.۷

۷۳۰۳۲۳۵۶.۷ × ۶۰ = ۴۳۷۴۴۶۷۴۰۲

۴۳۷۴۴۶۷۴۰۲ - ۱۱۷ = ۴۳۷۴۴۶۷۳۸۰۵

۴۳۷۴۴۶۷۳۸۰۵ ÷ ۳۶ = ۱۲۱۵۱۳۲۶۳.۷

۱۲۱۵۱۳۲۶۳.۷ × ۶۰ = ۷۲۹۰۷۹۵۵۸۲

۷۲۹۰۷۹۵۵۸۲ - ۱۱۷ = ۷۲۹۰۷۹۵۵۷۰۵

۷۲۹۰۷۹۵۵۷۰۵ ÷ ۳۶ = ۲۰۲۵۲۲۳۷۵.۳

۲۰۲۵۲۲۳۷۵.۳ × ۶۰ = ۱۲۱۵۱۴۷

$$\begin{aligned} \tan(\pi - \alpha) &= -\tan \alpha \\ \tan \pi + \alpha &= \tan \alpha \\ \tan \pi - \alpha &= -\tan \alpha \\ \tan \pi + \alpha &= \tan \alpha \end{aligned}$$

$$\begin{aligned} -\tan \alpha + \tan \alpha &= \tan \alpha \\ -\tan \alpha - \tan \alpha &= -\tan \alpha \\ \frac{\tan \alpha}{-\tan \alpha} &= -1 \end{aligned}$$

$$\frac{1}{x-a} = \frac{1}{a}$$

$$\frac{1}{x-a} = \frac{1}{a} \Rightarrow x-a = a \Rightarrow x = 2a$$

$$A = -\frac{1}{x^2+1}$$

$$\frac{1}{x-a} = \frac{1}{a} = \frac{1}{-x-a} = \frac{1}{-x-a}$$

$$\frac{1}{x-a} = \frac{1}{a} \Rightarrow \frac{1}{x-a} = \frac{1}{-x-a} \Rightarrow \frac{1}{x-a} = \frac{1}{-x-a}$$

$$\frac{1}{x-a} = \frac{1}{a} \Rightarrow \frac{1}{x-a} = \frac{1}{-x-a} \Rightarrow \frac{1}{x-a} = \frac{1}{-x-a}$$

$$\frac{\sin x + \cos x}{\sin x - \cos x} + \frac{\sin x - \cos x}{\sin x + \cos x} = \frac{2}{\sin^2 x - \cos^2 x}$$

$$\frac{(\sin x + \cos x)^2 + (\sin x - \cos x)^2}{(\sin x - \cos x)(\sin x + \cos x)} = \frac{2}{\sin^2 x - \cos^2 x}$$

$$\frac{2}{\sin^2 x - \cos^2 x} = \frac{2}{\sin^2 x - \cos^2 x}$$

$$\frac{2}{\sin^2 x - \cos^2 x} = \frac{2}{\sin^2 x - \cos^2 x}$$

$$\frac{\sin^2 x - \cos^2 x + 1}{\sin^2 x + \cos^2 x - 1} = \frac{2}{\sin^2 x - \cos^2 x}$$

$$\frac{\sin^2 x - \cos^2 x + 1}{\sin^2 x + \cos^2 x - 1} = \frac{2}{\sin^2 x - \cos^2 x}$$

$$\frac{\sin^2 x - \cos^2 x + 1}{\sin^2 x + \cos^2 x - 1} = \frac{2}{\sin^2 x - \cos^2 x}$$

$$\frac{\sin^2 x - \cos^2 x + 1}{\sin^2 x + \cos^2 x - 1} = \frac{2}{\sin^2 x - \cos^2 x}$$

$$\sin \theta = \pm \sqrt{1 - \cos^2 \theta}$$

$$\cos \theta = \pm \sqrt{1 - \sin^2 \theta}$$

$$\frac{1 + \sqrt{1 - \cos^2 \theta}}{1 - \sqrt{1 - \cos^2 \theta}} = \frac{1 + \sqrt{1 - \cos^2 \theta}}{1 - \sqrt{1 - \cos^2 \theta}}$$

$$\frac{1 + \sqrt{1 - \cos^2 \theta}}{1 - \sqrt{1 - \cos^2 \theta}} = \frac{1 + \sqrt{1 - \cos^2 \theta}}{1 - \sqrt{1 - \cos^2 \theta}}$$

$$\frac{1 + \sqrt{1 - \cos^2 \theta}}{1 - \sqrt{1 - \cos^2 \theta}} = \frac{1 + \sqrt{1 - \cos^2 \theta}}{1 - \sqrt{1 - \cos^2 \theta}}$$